Review for Intermediate Algebra Test@ |

Questions 1 through 4 refer to the following;:

Simplify the given expression:

1

4

5)

6)

(32 - Sx +9) + (762 + 8x - 15)
)] 10x2+3x+6
D) 10x2-3x-6

A) 10x2-3x+6
B) 10x2+3x-6

(18p%g - 12p3¢21) + (6p%q)

Ay 2p%-3pgr O 3% -2
B) 3pq - 2pq> D) 3p2-2pgr
(a - 4b)- (9a + 2b)

A) -8a-2b Q) -10(a+b)
B) -8a-6b D) -14(a- )
4(3x - 2) + 73 - 2%)

A) 2x+13 C) -2x+13

B) -2x-13 | D) 2-13

What is 82 + 4y - 3 subtracted from 5p% +2y - 1?
A) 3p2-2p+2 Q) H2-2p+2
B) -3y2+2p-2 D) 32+2p-2

Find the product ofthe given expression:

-5b2(2b - 4b?)
A) -105 +2052
B) -1063-20p%

C) -1083 +20b4
D) -1052-20b2

Questions 7 through 9 refer to the following:

Expand and simplify the given polynomials:

7

8)

9

10)

11)

(-2 4
Gx+y)?
63 + 9)(x - 2)-x%

Which binonial is equivalent to 3(x - 1) - 2(x - 3)7
A) x-7 C) x+3
B x+5 D)y 5x-7

Find the quotient of the given expression:

12x% - 2052 + 8x
4x

1 1
C) 3x-5x7 +2xd
D) 3x4- 52 +2x

A) 3x*-5x2+4x
B) 3x3-5x+2
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12) What is the solution for x given the equation 3x - 31 =-76.
A) -15 0 15
107 107
B 5 D) -5
13) What is the solution for x given the equation ';l.x +23 =257
A) -75 75
B) -60 D) 60
14) What is the value ofx in the equation x +Z~= g?
1 7
A) 3 C) %
1 1
B) o D) 5
Questions 15 through 19 refer to the following:
Solve the given equation for the variable:
15) 16=8-4y
A) 6 By -4 C) -2 D)y -6
x _3
1 3373
A) 3 C 6
32
B) 9 D) 1
17y 7y-35=2y
A) -5 By 5 C) -7 D) 7
18) 2x+20=52-6x
A) 18 C) 4
B) 9 D) -4
19) 5-3d+2)=2d+1)-2d
A) 1 G -t
2 5
B) -3 D) -3
20) What is the solution for » given the equation
4n+32=8n-n+14?
21) Determine the solution for x in the equation 0.8x +3.2 = 0.4x.
22) What is the value of # in the equation 0.6(z + 10) = 3.6?
A) 4 C) 5
B) -4 D) -04
23) Use the distributive property.to solve for z in the equation

14= 15z - 2= +12).



